
�
�

Assembly Instructions

Congratulations on your 
purchase of Wall Mounted 
Tiles and Metal Shelf

For assembly assistance, visit haworth.com, call 800 426 8562, or email support@haworth.com

Masters

�For assembly assistance, visit haworth.com, call 800 426 8562, or email support@haworth.com



Masters Assembly Instructions

Customer Service:   800 426 8562 E.C.O. No   500000070673 Part No   6100-0304 Rev   1 Page  2 of 6

F

D
E

E

H
G S-3

Tools Required

#2

1/8” Drill Bit

(F) Wall Mounted Tile - Qty. 1(E) Anti-dislodgement Brackets - Qty. 2

(S-3) #10 x 5/8” Pan Head Screw - Qty. 4 (H) Floating tMetal Shelf - Qty. 1

(D) Fench Cleat - Qty. 1

(G) Wooden Leveling Spacer - Qty. 1

1
Attach brackets (E) to cleat (D)

#10 x 5/8" Pan Head Screw

(S-3)
D

E

S-3

S-3

2

1/8"

D

1



Masters Assembly Instructions

Customer Service:   800 426 8562 E.C.O. No   500000070673 Part No   6100-0304 Rev   1 Page  3 of 6

D

D

F

2
Install cleats (D) align bottom of cleats on marked lines. Install wall tile (F) as shown.  

Speci�c Instructions for Wall Frame Construction
A. Wall with Wood Stud Framing or 3/4” Plywood Surfaces:
 Cleats must be attached to either wood studs in wall or 3/4”  

thick plywood securely attached to studs. Attach the cleats 
using #10 x 2-1/2” truss head screws. Use longer screws if 
required to securely anchor the cleats to the wood studs.

B. Wall with Gypsum Board, Sheet Rock or Wall Board with 
Metal Stud Framing:

 Cleats must be attached to metal studs. Use either 2” #10 
sheet metal screws or 2” #10-24 TEKS self-drilling screws.

NOTE: Install screws every 8 inches.

NOTE: Due to varying wall construction, fasteners are not included 
and must be �eld supplied.

Z

Y

1/4”

Y - Z + 1/4” = X

NOTE: For 36” tiles 
ONLY, DO NOT install 
spacers (G).

Y - Z + 1/4” = X
4”

F

#10 x 5/8" Pan Head Screw

(S-3)

E

E

S-3

1

2
3

3-3/4”

NOTE: Install tiles in sequence 
order, C, B, A, with the bottom 
tile being placed �rst.

1C

1B

1A

1C

1B

1A

1C

1D

1B

1A

1B

1A

1A

1B

1C

1C

1B

1A

G

G

F

3 TILE SET

2 TILE SET4 TILE SET



Masters Assembly Instructions

Customer Service:   800 426 8562 E.C.O. No   500000070673 Part No   6100-0304 Rev   1 Page  4 of 6

D

F

2
Install �oating metal shelf (H) as shown. 

Z

Y

Y - Z + 0.05” = X

3-3/4”

NOTE: Measure from 
top of shelf.

NOTE: Shelf sits on top 
of wall tile.

NOTE: For 36” tiles 
only, DO NOT install 
spacers (G).

H H

G

1C

1B

1A

1C

1B

1A

F
NOTE: Install tiles in sequence 
order, C, B, A, with the bottom 
tile being placed �rst.

1C

1B

1A

1C

1D

1B

1A

1B

1A

1A

1B

1C

3 TILE SET

2 TILE SET4 TILE SET



WALL TRACK ATTACHMENT OPTIONS

Masters Assembly Instructions

Customer Service:   800 426 8562 E.C.O. No   500000070673 Part No   6100-0304 Rev   1 Page  5 of 6

WALL  ATTACHMENT OPTIONS

NOTE: Due to varying wall 
construction, fasteners are 
not included and must be 
�eld supplied.

FOR STEEL STUDS

D
16" ON CENTER

MAXIMUM

X - 7.50"

12" MAXIMUM
(BOTH SIDES)

1/8"

D

3/4"
PLYWOOD

OR
D

D

OR
D

3/4"
PLYWOOD

AL

WALL BOARD

D



WALL TRACK ATTACHMENT OPTIONS

Masters Assembly Instructions

Customer Service:   800 426 8562 E.C.O. No   500000070673 Part No   6100-0304 Rev   1 Page  6 of 6

FOR POURED CONCRETE WALLSBLOCK WALLS

To
gg

le
 B

ol
t

(AN)

NOTE: Due to varying wall 
construction, fasteners are 
not included and must be 
�eld supplied.

D

D

NOTE: Use the appropriate 
Toggle Bolt.


